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I¢'s hecause gravity rapidly
decreases as you move further
from an object ~ Newton's law
says that the gravitational force
s inversely proportional to the
distance between the objects,
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Professor the Fonz and Professor Orange are discussing an astronaut 400 km above the surface of the Earth.  They both agree that she will experience weightlessness but cannot agree on why.
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Explain the observed weightlessness of the astronaut, describing the parts of the argument above you agree with.

Using Newton’s law, calculate the force of gravity between the astronaut at the Earth’s surface and 400 km above.  Compare the values.  
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